() Walter’s Wild Wigs

Let’s go shopping at the Walter’'s Wild Wigs!
Use addition or subtraction to solve the word problems.
Show your work.

Mr. Sanders bought 10 green wigs. He returned 8 of them.
How many wigs does Mr. Sanders have now?

wigs

Ryan is having a mullet party! He buys 8 brown mullets,

3 blonde mullets and 4 red mullets. How many did he buy
in all?

mullet wigs

Maryann needs 10 pink fluffy wigs for a play. She could only

find 7 of those at Walter's Wigs. How many more does she
need?

more wigs

Carmen and her friends need mohawk wigs for Halloween. They
buy 12 wigs, but only 6 of them have glitter. How many of
their mohawk wigs do not have glitter?

non-glittery mohawk wigs
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